CHOOSE THE BEST ANSWER:

1) A function is given. Choose the alternative
: ... :
that is the derivative, d_y of the function.
X
a) 5x*tanx
b) x’sec’x
c) 5x*sec’x
d) 5x*+sec’x
e) 5x*tan+x°sec’x
f) None of the above

3) A function is given. Choose the alternative
dy

that is the derivative, d_ of the function.
X

Uy

T 3-2x

e) %(3—2X)

3
2

f) None of the above

2) Afunction is given. Choose the alternative

that is the derivative, j—y of the function.
X
_2-x
Y 3x+1
a) — 7
3x+1
6x-5
b) ——
(3x+1)
9
c) ——
(3x+1)
7
d ——
(3x+1)
7
e) ——
(3x+1)

f) None of the above

4) A function is given. Choose the alternative

that is the derivative, j—i of the function
__ 2z
(SX + 1)3
__ 30
(5x + 1)2
b) -30(5x+1)"
-6
C —_—
) (5)(+1)4
) _1_30(5x+1)—§
30
e —_—
) (5x+1)4

f) None of the above



